Mo BK B T e 2 B 3 U

SHORT TYPE SUPER HIGH SPEED HOLLOW ROTARY  HYDRALLIC CYLINDER

B, KALRHOEHEL, 2RERMNEREMN2/3,
R IR B S, AR SRR s EE R GR, RBNTBIRME, MERERENRFIED,
RERTHERHEZ

Super short form, light weight larger through-hole, just as 2/3 of typical model
length.

Built-in check valve which prevents the internal pressure from sudden declining
so that the workpiece will not fly out and cause a serious accident.

Can screw it from the rear end of the cylinder when mounting.

—

Wi 3~ LA 6x2 L, QL P « 6L

N
8

S| w| ol O o
]
ERIIEIN g
Pressure Pcrt
12-Y1
PTAHGHAL / @
Drain Port [ A
?33
—]

Bt Spec | REEM Eff pistonareacm™ | f77% mm | RAEAERBpm. | RERAEAMPa| GD' kgm' | BE kg | %R EiUmn.
HU5E Model 18] Extend | #if8] Retract | Piston stroke Max.speed Max.pressure(kgf/cm’) | Moment of inertia | Weight | Total oil leakage
BK-1246 99.1 88.0 15 8000 4.5 (45) 0.06 7.5 3.0
BK-1246S 100 89 15 8000 4.5 (45) 0.06 9 3
BK-1552 135.3 125.0 20 6500 4.5 (45) 0.11 11.8 3.9
PREEo9S 148 138 22 6500 4.5 (45) 0.11 13 3.8
gij;';g 179.5 163.5 25 5500 4.5 (45) 0.24 17.8 4.2

183 169 25 5500 4.5 (45) 0.24 18.7 1.1
ﬂ%;'\foize W?QI'D i © " hE7 7 max.G1min. max.szin. i N R Ll L2 M1 M2 M3
BK-1246 125 | 156 | 140 [ 140 [120| 65 | 15 | o | 40 | 25 | 58 | 85 | 125 | mexe5 | 15 |ms5x2| 25 | 13
BK-1246S 125 | 156 [130 [ 147 | 100 | 65 | 14 | -1 | 35 | 20 71 [101.5[139.5| M8x75 | 15 | M55x2 | 30 15
BK=1552 145 | 185 |170 [ 165 [130| 70 | 20 | o | 45 | 25 | 67 | 95 | 135 | m8x70 | 15 |Mmeox2| 30 | 15
BRZIO0Z5 1145 1 185 [170 [ 165 [130 [ 70 [ 21 | -1 [ 37 [ 15 [ 71 [110.5]150.5] msxso | 15 [ meox2| 30 | 15
oo oo | 175 | 215 [190 190 [160 | 98 | 25 | o [ 50 | 25 | 73 | 107 | 157 [m10x80| 17 [ms5x2| 35 | 15
TR a7 | o215 (190 195 [ 160 | 95 | 24 | -1 | 43 | 18 | 82 [126.5[169.5|M10x90| 17 [ Mm8s5x2| 35 | 15

\ ~T ¥ i
_&ﬂ%rmiize Nt [ N2 [ OT1 021 b iarfa2 | R| S| 7 [ ulv|w|w[s|[xe]|vi|vye
BK-1246 |M52x1.5| 29 | 50 | 46 | 88 | 85| 36 | 50 | 76 | 85 | 116 | 6 | 75 | 120 [PT3/8| Mex6 |MI0x20| M5x6
BK-1246S |M52x1.5| 29 | 50 | 46 | 10.5(10.5| 38 | 50 | 76 | 85 | 116 | 5 | 76 | 120 |PT3/8| M6x6 |MI0x20 | M5x6
BK-1552 | \vsgx15| 20 | 55 | 52 | 97 [ 85| 36 | 56 | 85 | 96 [ 128 | 7 | 80 | 130 [pr3/s| Mex7 [Mwx20| mMex6
Ef&_fbbfb M58%x1.5 | 29 55 52 | 11.5|11.5] 39 56 85 96 135 5 86 130 |pr1/2| M6%9 [MI0x20 | M6x6
oo oo | meix2 | 33 | 8o | 75 | 109 | 12 | 40 | 83 [ 108 | 121 [ 164 | 7 [ 100 | 160 [P13/8] Mex8 [M0x20| mexs
meix2 | 33 | 80 | 75 [ 17.5[17.5] 45 [ 81 [ 108 [ 121 [ 163 | 7 | 101 | 160 [P11/2] MexI0|miox0| Mexs

A Sk dh Ak B R, R i 2 fh Sk Hetp://www. 86chuck. com 8



